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INSTRUCTIONS AND INFORMATION
1. This question paper consists of FIVE questions. Answer ALL the questions.
2. Use the ANNEXURES in the ADDENDUM to answer the following questions:

ANNEXURE A for QUESTION 1.1
ANNEXURE B for QUESTION 1.2
ANNEXURE C for QUESTION 2.1
ANNEXURE D for QUESTION 4.1
ANNEXURE E for QUESTION 5.1

3. Number the answers correctly according to the numbering system used in this question
paper.

4.  Start EACH question on a NEW page.

5. You may use an approved calculator (non-programmable and non-graphical), unless
stated otherwise.

6.  Show ALL calculations clearly.

7.  Round off ALL final answers appropriately according to the given context, unless stated
otherwise.

8.  Indicate units of measurement, where applicable.
9.  Diagrams are NOT necessarily drawn to scale, unless stated otherwise.

10. Write neatly and legibly.
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QUESTION 1

1.1 | Soccer city stadium, also known as FNB stadium is one of the stadiums in South
Africa used to host big soccer games.

ANNEXURE A shows the seating layout of the soccer city stadium in
Johannesburg.

Use ANNEXURE A to answer the questions that follow.
1.1.1 State the viewrepresented by the seating layout of the stadium. 2)

1.1.2  The capacity ofythe stadium is 88 000 spectators. Define the concept
capacity using the context given. 2)

1.1.3 Siba wanted to enter the stadium using entrance number 12. Write
down the name of the road that passes next to that entrance. 2)

1.1.4 Write down the number of ticket clearing points and entrances into the
stadium. 2)

1.1.5 For a certain match taking place in the stadium, 85% of the tickets
were sold. Calculate the number of seats which were not occupied in
the stadium during the match. )

1.2 | The Central University of Technology wanted to replace the old student desks
in their student accommodation with new ones.

ANNEXURE B shows the item list that comes in a package of a student desk.

Use ANNEXURE B to answer the questions that follow.

1.2.1 Determine the total number of washers needed to assemble the student
desk. 2)

1.2.2 Give one use of a student desk. )

1.2.3  Write down the item, using the symbol, from step 2 which is not listed
under the item list. )

1.2.4 Write down the number of screws used to attach the top unit in step 3. 2)

1.2.5 One apartment has four rooms inside. Calculate the number of new
desks needed, for fifteen apartments if one desk is placed in every room.  (2)
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1.3 | One of the students bought a foldable laptop stand to use for his laptop.

Shown below are the pictures of the package box and the dimensions of the
stand.

PACKAGE BOX DIMENSIONS OF THE
FOLDABLE STAND

Use the information above to answer the questions that follow.

1.3.1 Calculate, in cm, the total length of the upper part of the stand. 2)
1.3.2  Write down the colour of the stand that the student bought. )
1.3.3  Explain the phrase ‘No assembly required’ 2)
1.3.4  Convert the height of the desk to mm. )

[28]
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QUESTION 2

2.1 | Mr Labuschagne, a paralympic athlete (athlete with disability) staying in South
Africa, travelled to Tokyo to enter the 42 km paralympic marathon.

ANNEXURE C shows a route map of the marathon from the starting to the
finishing point

Use the information above and ANNEXURE C to answer the questions that
follow.

2.1.1  State the general direction of Tokyo Skytree from the starting
point. 2)

2.1.2  Write down the probability of selecting a group with men and women
participating.in.the marathon. Give your answer as a fraction. 2)

2.1.3  After completing his training in South Africa, Mr Labuschagne stated
that he will be able to complete the marathon in 2 hours 33 minutes.

State two faetors that may affect his running pace during the marathon. 4)

2.1.4 Write down the name of the station which is situated at the 15 km
mark of a marathon. 2)

2.1.5 Calculate how many kilometres will be left before reaching the
finishing point when an athlete is at the 40 km mark of the marathon. 2)

2.1.6  Write down the number of U-turns shown on the map. )

2.1.7 The information about different groups participating in the marathon
together with the starting times was provided on the internet.

Group Time
T12 — athletes with visual impairments 08:00 am
T46 — athletes with upper limp deficiency 07:00 am
T54 — athletes on wheelchairs 06:30 am

(a)  Give ONE possible reason why different groups start at
different times. )

(b)  There were three thousand nine hundred and sixty athletes on
the day of the marathon. Group T12 had 1 700 athletes and T54
had 1 580 athletes.

Write down, in a simplified form, the ratio of the three groups. 3)
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22

Mr Labuschagne stays in Edenburg and he regularly travels to Bloemfontein to visit his
parents. The map below shows the location of the two places.

[Source:sa-venues.com]

Use the information above to answer the questions that follow.

221

222

223

Write down the number of nature reserves appearing on the map (2)

Write down the name of the province that is situated in the north easterly
direction from Edenburg. 2)

Mr Labuschagne wanted to check the distance from Edenburg to
Bloemfontein. He used the distance calculator on the internet and found
out that the distance between the two places is 77,5 km.

Calculate the distance between the two places using accurate measurement

and the scale provided. Give one possible reason why the calculated

distance and the one from the internet are not the same @)
[30]
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QUESTION 3

3.1 A farmer in the United States of America uses the containers below to store
and supply milk to local factories.

330 Gallon IBC Tote 55 Gallon drum

Inside dimensions

Length = 48 inches
Width = 40 inches
Height = 46 inches

[Source: IBCtanks.com]

NOTE:
1 gallon = 4,546092 litres

1 inch = 2,54 cm
Ime=1cm’

Use the information above to answer the following questions.

3.1.1 Convert 55 gallons to litres. Round your answer to the nearest whole
number. 3)

3.1.2 Write down TWO dairy products that can be produced by using milk. (2)
3.1.3 Show, by means of calculations, that the IBC tote can hold more than
310 gallons of milk.

You may use the formula:

Volume of a rectangular prism = length Xwidth xheight (6)

3.1.4 The farmer decided to paint the total external surface area of the drum
to keep it away from rusting. The spread rate of the paint is 2,5m?/{ and
the paint is sold in 10 tins. Calculate how many tins of paint will be
needed to paint one drum.

You may use the formula:

Surface area of a cylinder (in m?)
=(2 x3,142 xr?) + (2 X 3,142 X r X h)
Where r = radius and h = height 9)
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3.2

The farmer checks the weight of the cows once per term to make sure that they
are healthy so that they can produce enough milk. He uses a manual way of
calculating the weight by measuring the cow’s girth and the body length.

NB: Girth is the measurement around the middle of the cow.

Use the information above to answer the following questions.

3.2.1

3.2.2

Choose the most accurate tool from the ones listed in the bracket.

The farmer may use the (measuring tape/ruler) to measure the girth and
the body length of the cow. (2)

Show, by means of calculations, that a cow with a girth of 70 inches
and a body length of 78 inches has a weight of 577,88 kg.

You may use the formula:

(girth)? x body length
300

Animal weight in pounds =

Note: 1 kg = 2,2046 pounds 4)
[26]
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QUESTION 4

4.1 | A team of netball players from Jacobsdal Agricultural School together with
their coach travelled to Cape Town to attend the netball world cup final match.
Due to the unavailability of accommodation at Cape Town they booked at a
hotel in Paarl.

A map on ANNEXURE D shows the distances in kilometres from Paarl to
Cape Town and the surrounding towns.

Use the information above and ANNEXURE D to answer the questions that
follow.

4.1.1 Write down the name of the town that is closest to Paarl. 2)

4.1.2  On the day of the match, the team together with their coach left the
hotel at 08:30 in the morning. They travelled to Waterfront Mall where
they had their breakfast. It took them 1 hourand 57 minutes from the
hotel until they left the mall to Cape Town International Convention
Centre netball courts.

(a)  Write down the time that they left the mall. 2)
(b) Calculate the average speed, in km/h, of their vehicle from Paarl
to Waterfront mall if it took them 58 minutes to travel to Cape
Town CBD.
You may use the formula: Distance = speed X time (6)
4.1.3 The school arranged a friendly match between their team and a High

School in one of the towns around Paarl. Use the directions below to
write down the town where the friendly match will take place.

° From Paarl, they travelled 25 km to Franschhoek.

. 28 km from the Franshoek, at the T-junction, they turned right.
. Their destination was the first town from the T-junction. )
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4.2 | The table below shows the accommodation arrangements for the team and their
coach. The rates given are for one night only.

TABLE 1: RATES PER ROOM FOR ONE NIGHT

Rooms allocated Number accommodated | Rates per room per
per room night
3 4 adults R2 800
4 2 adults R2 950
1 1 adult R3 200

NOTE: The team arrived at 17:00 on the 05" of August and checked out at
08:00 on the 07™ of August
They travelled with a 22-seater bus that has a fuel consumption of
10,5€/100 km.
The total distance for a round trip was 2769,2 km.

Use the information above to answer the questions that follow.
4.2.1 Write down the total number of players of the team. 2)
4.2.2 Explain the meaning of ‘round trip’ as used in the context. 2)
4.2.3  50% of the total amount for accommodation and petrol will be paid by

the School Governing Body (SGB) and the other 50% will be shared

equally amongst the members of the team including the coach.

Show, by means of calculations, that each member will pay
R1 269,78c.

You may use R22,46 as the fuel price per litre. 9)
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4.3 | The table below shows the weight and height of the netball players. The
information is used by the coach to select the appropriate position for each

player.
Weight Height Weight Height
(in kg) (in cm) (in kg) (in cm)
Player 1 ! 167 Player 6 56 166
Player 2 66 180 Player 7 80 188
Player 3 78 190 Player 8 79 189
Player 4 80 181 Player 9 68 179
Player 5 31 187 Player 10 58 162
BMI STATUS
BMI (kg/m?) | Weight Status
Below 18,5 Underweight
18,5 to 24,9 Normal
25,0 t0 29,9 Overweight
30,0 and above Obese

Use the information above to answer the questions that follow.

4.3.1 Write down, as a percentage, the probability of randomly selecting a
player with a height less than 170 cm and a weight of 60 kg from all
players.

2)

4.3.2 Determine the BMI status of a player with a height of 188 cm and a
weight of 80 kg.

You may use the formula: BMI =

Copyright reserved

mass (in kg)

(height in metres)?2

“)
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4.3.3 | Each player has a specific playing area where they can be playing during
the game. In table 2, the playing areas per playing positions are shown.

TABLE 2: PLAYING POSITIONS AND PLAYING AREAS

Player Position Playing Areas
1 Goal Shooter 2
2 Goal Attack 2 3
3 Wing Attack 2 3
4 Centre 2 3 4
5 Wing Defence 3 4
6 Goal Defence 3 4 5
7 Goalkeeper 4 5

Playing area: An area which a player is allowed to play in.

Where D = Diameter

1 — 5 are playing areas

NETBALL COURT WITH SPECIFICATIONS

R = Radius

Use the information above to answer the questions that follow.

(a)

(b)

©

Copyright reserved

Write down which players are not supposed to play in the playing
area 4 and 5. 3)

Show, by means of calculations, that the difference between the
radius of the goal circle and the radius of the centre circle is
4,45 m. )

Calculate, (in m?) the area of the netball court.

You may use this formula:

Area of rectangle = length x width 3)
[41]
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QUESTION 5

5.1 | Mr Bartman is a businessman who owns a printing company. He bought a two-
bedroom house and turned it into an office space.

ANNEXURE E shows a floor plan of the house he bought.

Use the information above to answer the questions that follow.
5.1.1 Give ONE reason why the plan is referred to as an open floor plan. 2)

5.1.2  State the probability of randomly selecting a window on the western
side of the house. )

5.1.3  Mr Bartman wanted to change the master bedroom to be a boardroom
where he can be able to hold meetings. He removed everything so that
he can change the flooring of the room and use carpet tiles.

The cost involved for carpet tiles:

- Carpet glue: 5¢ for every 3 m?

- One tin has 5¢ of glue.

- Carpet glue price: R359,00 per tin
- Carpet tiles: R550 per m?

- Cost for labour: R400 per m?

(a) Calculate the number of 5€ carpet glue tins that Mr Bartman
must buy to cover the whole room.

You may use this formula:
Area of a rectangle = length x width 4)

(b) Determine the total cost to install the new flooring. “4)
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5.2 | Bedroom 2 will be used to store boxes of paper for printing purposes. 20% of
the space on each side as shown on the picture below will not be used to allow
movement when the packing and unpacking of the boxes is done.

LAYOUT PLAN FOR PICTURE OF A DIMENSIONS OF

PACKAGING BOX OF PAPER THE BOX
»  Space for packing Length = 28 cm
Width= 23 cm
A
Height=31,8 cm

Use the information above to answer the questions that follow.

5.2.1 One of the employees stated that they will be able to pack seven layers
of boxes in the bedroom.

Verify, using calculations, whether his statement is VALID. 4)
5.2.2  Calculate the maximum number of boxes that can be packed in the
bedroom if the length of the box is packed along the width of the room

and the width of the box along the length of the room. (8)

[25]

TOTAL: 150

Copyright reserved



Downloaded from Stanmorephysics. com

PREPARATORY EXAMINATION

GRADE 12

ADDENDUM

This addendum consists of 6 pages with 5 annexures.

Copyright reserved Please turn over




Weunitcaded i rom Stanmorephysics. com FS/September 2024
Grade 12 Prep. Exam. Addendum

ANNEXURE A
QUESTION 1.1
SEATING LAYOUT PLAN OF SOCCER CITY STADIUM

Security Check
Points

Stadium ticketing
clearing point.

Stadium Map Key
Entrances @

Ticket clearing points. .
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ANNEXURE B
QUESTION 1.2
ITEM LIST
A F H Wrench
Top Unit Back Stretcher Drawer Front
B+C
Side Frames
D Flat Washer Tapered Wood Screw Tapered Head
Front Rail 9 pieces 7 pieces Cap Bolt
5 pieces
E Spring Washer Wood Screw
‘ ' 8 pieces 11 pieces
Middle Rail Head Cap Bolt
9 pieces
STEPS TO ASSEMBLE A TABLE
STEP 1 STEP 2
A
STEP 3 STEP 4 Final Product
A
[Source:shwdesks.com]
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ANNEXURE C

QUESTION 2.1

Paralympic Marathon Course (Groups Participation)
T12(Men/Women), T46 (Men), T54 (Men/Women)

Sta - Stations [Source:accessible-japan.com]

U-Turns t{j)
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ANNEXURE D

QUESTION 4.1

ROUTE MAP FROM PAARL TO CAPE TOWN AND SURROUDING TOWNS

CBD

MAP FROM CAPE TOWN CBD TO WATERFRONT

[Source:booking.com]
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QUESTION 5.1
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Z

KEY:

Window

Dimensions of

Dimensions of

Door

bedroom 2 Master Bedroom
Length =3 m Length =3 m
Width=2,6 m Width=3 m

Height of the wall =2,4 m

[Source: nethouseplans.com]
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PREPARATORY EXAMINATION
VOORBEREIDENDE EKSAMEN

GRADE/GRAAD 12

/ : L
MARKING GUIDELINES/NASIENRIGLYNE

Symbol/Kode | Explanation/Verduideliking
M Method/Metode
MA Method with accuracy/Metode met akkuraatheid
CA Consistent accuracy/Volgehoue akkuraatheid
A Accuracy/Akkuraatheid
C Conversion/Herleiding
S Simplification/Vereenvoudiging
RT Reading from a table/a graph/document/diagram/Lees vanaf tabel/'n grafiek/dokument/
diagram
SF Correct substitution in a formula/Korrekte vervanging in 'n formule
[0) Opinion/Explanation/Opinie/Verduideliking
P Penalty, e.g. for no units, incorrect rounding off, etc./Penalisasie, bv. vir geen eenhede,
verkeerde afronding ens.
R Rounding off/Afronding
No penalty for correct rounding/Geen penalisasie vir korrek afronding nie
AO Answer only/Slegs antwoord
Method with constant accuracy/Metode met volgehoue akkuraatheid
No penalty for unit/Geen penalisasie vir eenheid nie

These marking guidelines consists of 11 pages.
Hierdie nasienriglyne bestaan uit 11 bladsye.
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NOTE:

e If a candidate answers a question TWICE, only mark the FIRST attempt.

e [If a candidate has crossed out (cancelled) an attempt to a question and NOT redone the
solution, mark the crossed out (cancelled) version.

e Consistent accuracy (CA) applies in ALL aspects of the marking guidelines; however, it
stops at the second calculation error.

e If the candidate presents any extra solution when reading from a graph, table, layout plan
and map, then penalise for every extra item presented.

e General principal of marking: If the candidate makes one mistake, he/she loses one mark.

LET WEL:

o As 'n kandidaat 'n vraag TWEE KEER beantwoord, merk slegs die EERSTE poging.

o As 'n kandidaat 'n antwoord van 'n vraag doodtrek (kanselleer) en nie oordoen nie, merk
die doodgetrekte (gekanselleerde) poging.

o Volgehoue akkuraatheid (CA) word in ALLE aspekte van die nasienriglyne toegepas, dit
hou op by die tweede berekeningsfout.

o  Wanneer 'n kandidaat aflesings vanaf 'n grafiek, tabel, uitlegplan en kaart geneem en ekstra
antwoorde gee, penaliseer vir elke ekstra item.

e Die algemene beginsel van merk: as 'n leerder een fut maak verloor hy/sy een punt.

QUESTION/VRAAG 1 [28 MARKS/PUNTE] ANSWER ONLY FULL MARKS
Q/V | Solution/Oplossing Explanation/Verduideliking T&L
MP
1.1.1 | Top view/Bird’s eye v'v'A 2A correct view L1
2) | E
M
1.1.2 | The maximum number of spectators that | 2A correct definition L1
soccer city stadium can accomodate.v' v'A E
2)
MP
1.1.3 | Nasrec road v'v'A 2A correct road L1
(2) | E
MP
1.1.4 | Ticket clearing points = 09 v'A 1A correct number L1
Entrances = 19 V' A 1A correct number E
2)
M
1.1.5 (- 28 000 = 74 800 v MA 1MA % calculation L1
100

88000 —74 800 = 13 200V A 1A answer M

OR

100% - 85% = 15%v" MA

15 IMA % calculation
o0 X 88 000 = 13 200v'A

1A answer
2
MP
1.2.1 | Total no of washers =9 + 8 vMA IMA adding correct values L1
=17vA 1A correct total number of E
washers
2)
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MP
1.2.2 | To study v’V A 2A opinion L1
2) | E
MP
123 |GVVA 2A correct symbol L1
2) | M
MP
124 |10V VA 2A number of screws L1
2) | E
vMA MP
1.2.5 | 4 x 15 =60 desks v'A IMA multiply correct L1
numbers E
1A no of deskes
2)
vMA M
1.3.1 | 44cm + 20 cm = 64cm V' A IMA adding correct values L1
1A correct answer E
(2)
M
1.3.2 | Grey vVA 2A correct colour L1
2) | E
MP
1.3.3 | Parts have already been put together v'v'A | 2A correct statement L1
OR D
The laptop stand does not need to be 2)
reconstructed.
1.34 | 27 x 10 vMA IMA multiply by 10 M
=270mm v'A 1A correct answer L1
(2) |E
[28]
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QUESTION/VRAAG 2 [30 MARKS/PUNTE]
Q/V | Solution/Oplossing 5:22?2;;?@ T&L
MP
2.1.1 | North East (NE) vV A 2A correct direction L2
M
2)
P
212 12YVA 1A numerator L2
3 VA 1A denominator E
(2)
440 MP
2.1.3 | The type of route of the the marathon. 20 correct opinoin L4
M
The weather during the day of the 20 correct opinion
marathon v'v'O
4)
MP
2.1.4 | Asakusa Station v'vV'A 2A correct station L1
E
2)
vMA MP
2.1.5|42km—-40km =2 km VA 1MA correct values L1
1A answer E
AO
(2)
MP
2.1.6 | 3VVA 2A correct no of turns L1
2 |E
MP
2.1.7 | Because it is people with different 20 correct opinion L4
(a) | disabilities v'v'O E
OR
Beacause of different impairments v'v'O 20 correct opinion
OR
They may run into each otherv'v'O 20 correct opinion
2)
MP
2.1.7 | T46 =3 960 — 1 700 — 1 580 v MA IMA subtracting the two L2
(b) =680 vCA values M
1700 :680:1 580 1CA simplification
85:34:79v CA 1CA simplified ratio
3)
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. . Explanation
Q/V | Solution/Oplossing Verduideliking T&L
MP
2.2.1 |5 (five) vV A 2A correct number L1
E
(2)
MP
2.2.2 | Mpumalanga v'v' A 2A correct province L2
2) | E
MP
2.2.3 | Bar Scale =22 mm v’ A 1A correct measurement L4
M
Map Distance from Edenburg to
Bloemfontein = 21 mm v A 1A correct measurement
v MA IMA correct fraction
Actual distance = % x 60km vMA IMA multiply by 60
B or 2phdSies <ot 1CA simplification
There was a direct measurement on the
map not taking into accout that the road is 7
not straight when you travelv'v'O
[30]
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QUESTION/VRAAG 3 [26 MARKS/PUNTE]
Q/V | Solution/Oplossing Ezft;zli?etll;l)c?ng T&L
M
3.1.1 | 55 x 4,546092 ¢ vMA IMA multiplying L2
=250,03506 ¢ v'A 1A correct litres E
~250 £ vR IR rounding down
(3)
M
3.1.2 | Cheece VA 1A porduct L1
Yogurt vV'A 1A product E
(2)
M
3.1.3 | Length =48 inch = 121,92 cm vC 1C conversiontocm | L3
Width = 40 inch = 101,60 cm D
Height = 46 inch = 116,84 cm
v'SF 1SF substitution

Volume = 121,92 cm X 101,60 em X 116,84 cm
= 1447 305,492 cin’ v CA
=1447 305,492 mf + 1000 v'C
=1447,305492 ¢ = 4,546092 v'C
=318,3625612 gallons
=318 gallons v'CA

It can hold more than 310 gallons

OR

Volume = 48 inches X 40 inches X 46 inches v'SF
= 88 320 inches® v'SF

88320 X 2,54 X 2,54 x 2,54 v'C

= 1447 305,49248 cm®

=1447 305,49248 m L v'C

=1447,30549248 ¢

1 gallon =4,546092 ¢

1447,30549248 »/C = 318,36 gallonsv' CA
4546092

It can hold more than 310 gallons

1CA simplification
1C conversion to
litres

1C conversion to
gallons

1CA no of gallons

1SF substitution
1CA simplification
1C conversion to cm

1C conversion to
litres

1C conversion to
gallons

1CA no of gallons

(6)
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vMA vC M
3.1.4 | Radius = 11,25 inch = 28,575 cm = 0,28575 m 1MA radius L3
Height = 33 inch = 83,82 cm = 0,8382 m v'C 1C conver inc to cm D
Surface area of a cylinder (in m?) 1C conver cm to m
=(2x3,142 Xr*) + (2 x 3.142 xr x h)
=(2 % 3,142 x0,28575%) + (2 x 3,142 x 0,28575
1SF substitution into
x 0,8382) v'SF the formula
=0,5131078448 + 1,505116345 v'S 1S simplification
VCA 1CA answer
=2,018224189 m?> = 2,5 vMCA IMCA conversion to
. ) litres
= 0,81 litres of paint v'"CA 1CA answer
= 1 tin of paint v'R IR no of tins
)
M
3.2.1 | Measuring tape v'v'A 2A correct tool L1
(2) |E
M
3.2.2 Animal weight in pounds = (girth)® X;;gdy length ]1;/[2
_70 ><37000><78 vSE
= 1274 pounds v'A 1SF substitution into
Conversioin to kg = 222U/ the formula
2'204‘/6 1A simplification
= 577,88 kg vCA 1C conversion
1CA answer
C))
[26]
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QUESTION/VRAAG 4 [41 MARKS/PUNTE]
. . Explanation
Q/V | Solution/Oplossing Verduideliking T&L
MP
4.1.1 | Franschhoek v'v'A 2Acorrect town L1
@ | E
M
4.1.2 | 08:30 + 1 hour 57 minutes v MA IMA adding 12
(a) |=10:27 VA 1A correct time M
(2)
M
4.1.2 | Distance from Paarl to Waterfront mall L2
(b) | =36km + 25km + 2 km 1A total distance M
=63km v A 1A time
Time = 58 min + 7 min
=65 min VA 1SF substitution of
Distance = speed xtime distance and time
63 km = speed x (65 + 60) v'SF IS changing subject
Speed = =M g vC 1C conversion
(65 +60) 1CA
= 58,15 km/h v'CA Answer ©
MP
4.1.3 | Grabouw v v'A 2A correct town L2
2| M
421 |3%x4=12 IM adding values M
4 x2=08 1Ca no of players L2
M E
12 + 08 = 20 players v’ A (2
M
4.2.2 | Total distance travelled from the place of depature | 2A correct statement L1
and back. vv'A 2)|E
F
4.2.3 | R2 800 x 3 =R8 400 IM amount per rooms | M
R2 950 x 4 =R11 800 vM 1CA total amount L3
R3 200 X 1 =R 3200 IMCA amount for two | D
Total amount =IR23 400 v'"CA nights
For two nights = R23 400 x 2
= R46 800 vMCA
Petrol cost
10,5 x 2769,2 i
N 2 X vMA 1.MA calculating no of
100 litres
= 290,766 v'A 1A no of litres
Cost =290,766 x 22,46 IMCA petrol amount
=R6 530,60 vMCA
Total Amount = R46 800 + R6 530,60 IMCA total amount
=R53 330,60 vMCA 1A 50%
50% =R26 665,30 VA 1A division by 21
R26 665,30
Each member will pay = — VA
=R1 269,78 9)
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Q/V | Solution/Oplossing Explanation T&L
Verduideliking
P
43.110% vvA 2A correct probability | L1
2) |E
M
4321188 cm=1,88m v C 1C conversion L2
BMI = —2°2k9 _ /qF 1SF substitution M
(1,88 m)? 5 1A correct BMI
= 22,63 kg/m” V'A IMCA status
Normal vMCA
“4)
M
433 Goal Shooter v A 1A 1st player L1
@) | Goal Attack vA 1A 2nd player M
Wing Attackv'A 1A 3rd player
3)
M
4.3.3 | D =900 mm 1C conversion L2
(b) vC 1A radius M
=09m-=+2
=045mvA
Difference = 4,9 m — 0,45 m vMA IMA subtracting
1CA answer
=4,45m v CA 4)
v'SF M
4.3.3 | Area of rectangle = (10,17 m x 3) x 15,25 m 1SF 10,71 and 15,25 L2
© vMA M
=30,51mx 1525m IMA correct length
=465,2775 m> v'CA 1CA answer
NPR
(3)
[41]

Copyright reserved/Kopiereg voorbehou

Please turn over/Blaai om asseblief




Wowriocaded rfromgtanmarephysics. com FS/VS/September 2024
Grade/Graad 12 Prep. Exam./Voorb. Eksam.
Marking Guidelines/Nasienriglyne

QUESTION/VRAAG 5 [25 MARKS/PUNTE]
. . Explanation
Q/V | Solution/Oplossing Verduideliking T&L
MP
5.1.1 | There are no walls separating the living room | 20 opinion L4
and the kitchen v'v'O 2) | E
P
512 [0% vV A 2A correct percentage L1
2) | E
M
5.1.3 | Area of a rectangle = length Xwidth L2
(a) =3m X3 m v SF 1SF correct values M
=9m’vA 1A area
No of 5/ of Carpet glue =9 m?> +3 m®* vMCA | IMCA dividing
=3vCA ICAnoof5¢
“4)
CA from 5.1.3 (a) F
5.1.3 | Total cost IRT all costs L2
(b) vRT vMCA IMCA multiplying costs | M
= (3 XR359) + (9 XR550) + (9 xXR400) with numbers
=R1 077 + R4 950 + R3 600 vMCA IMCA adding all the
=R9 627,00 vCA values
1CA cost
“4)
Height of the box = 31,8 cm =0,318m v'C
5.2.1 2,4m 1C conversion MP
=_2 v
Number of layers 0318m MA IMA dividing 14
—7547.. vCA 1CA no of layers M
— 7,layers vR IR rouding down
His Statement is VALID.v'O 10 opinion )
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CA from 5.2.1 MP
5.2.2 | Length of the box and width of the room L3
Length of the box =28 cm + 100 D

=0,28 m vC
Width of the room = 2,6 m — 20%
vMA =2,08m v A

2,08m _ 5 43 vcA
0.28m

=7 boxes VR

Width of the box and length of the room
Width of the box = 0,23 m
Length of the room = 2,4 m

1C converted length

1A 80% width

IMA dividing by length
of a box

1CA unrounded answer
IR rounding down

24m 10434, .
0,23m
= 10 boxes v'A 1A no of boxes
vMCA
Total no of boxes to be packed =7 X 10 X 7 IMCA multiplying
v'CA values
= 490 boxes 1CA total no of boxes
®)
[25]
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